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COMPUTER SCIENCE

(Honours Generic/Regular)

Answer the Questions from any one Option.

OPTION-A
Paper : CSC-HG-1016/CSC-RC-1016
( Problem Soli:ing using Computer)
Full Marks : 60
Time : Three hol,,irs

The figures in the margin indic;zte
Jull marks for the questions.

Answer either in English or in Assamese.
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Group-A ' '.(c) - An object contains —_— ‘and
“ﬂ‘*ﬂ-% , methods. - (Fill'in the blank)
1. Answer the followin M object A ®lr% method (e
" directed : & (any se"e;{f; . Bifiet e | () 3% 979 F)
ﬁt@ﬁlﬂﬁﬁwﬁﬂm« Rzt srehiToes fdl ¢ ~(d) What do you mean by the brain of
" (@) You can use p ythén for : | . computer ? | o
@WWWW 'awl | Wﬁaﬂqqﬁﬁmm?
(i) apphcatmn programming _ (e) Name two types of' errors that. are
a3 2aifie ‘ | commonly occurred in programming.
(i) web programming - . ziaiifiiee 153 Fkaoe m@mwﬂm
& ey | -
(iii) scientific programrmng 1 (/ What do you mean by strings in
wEe g0 Python ?
(iv) All of the above - | RIS strings I & {W ?
. G?WW | (g9) \}P;?;t go‘ you mean by Atoms in
on

- (Choose the correct answer)

2132TS Atoms {ﬁﬂﬁ ISR

“o . (o7 Tewhr A Bfae
. o | e ) (h) Write the purpose of using bitwise
(b)A All - digital computers use the | operator.

— Number system,

Bitwise ST IR FILACH! Bt |
(Rill in the blank)

g H— fﬁ?%ﬁf‘ﬁ - S () What is decision table ?
W A | N Decision table Wit & & ¢
(0= 37? %99 1) » ' ~
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(e) Write any two differences between
: : - % o
() What is Boolean operator : algorithm and flowchart.

Boolean operator Ji(e % e ? | R WA FOOT Tew Repizan 75 airen
(k) What is exit function ? ferr |

Exit function e f 351 ¢ () Write the definition of identifiers and

() What is Python shell ? keywords.
Python shell i & 3@ 2 Identifiers 1% keywords 3 <@l i |

2. Answer any four of the following questions : (9) What do you mean by indentation that
2x4=8 is used in Python programming. Name

O RPTIRA fAClc BIfhr Tew fordi s two characters (symbols) used in

(aq) Name any four characteristics of a indentation,

computer. - : 112 ehalifiies TR (WM indentation T

SRATSIE Rl bifb! Rerrea = 1| 351 ¢ Indentation © 7R czat IS

(=) e

(b) What do you mean by documentation ?

Documentation S & 3@ 2

() Name three types of contro] statements
(or, control structures) that are known

(c) What do you mean by debugging ? as the building blocks of any
e & @ 2 programming language.
Debugging .

2alifsk S Fre I eEre S5 control
| (d) What is structured programmirlg? & (31, control o) T A el |

ramming & ? .
Structured prog - } (Sem-1/CBCS) CSC/TCA/TIT-HG/RC/G 5 Contd.

3 (Sem-1/CBCY) CSC/TCA/TIT—HG/RC/G 4

~




s

3 (Sem-1/CBCS) CSC/TCA/TIT -HG/RC/G 6

Answer. any three of the following |
questions :

(a) What do you mean by generations of

- (b)

"in each of these.5 generations.

| IO ©F® Neeral ot YR o |

5x3=15 |

computer ? Name three _,féctors based
upon which thése‘generations are
classified. Write one name of the most
prominent hardware technology used

FTOR aer e 3 2 fOR Sy
T AN 7 A @eive fofe IR @7 o
T @ANRerE 71 (2| G A oo
m@@@cﬂ@laawﬁ%w@ma¢ﬂﬂimﬂﬁaeﬁﬁ@a
e

Draw a diagram depicting the memory
hierarchy associated with a computer |
system. Also draw three arrows for |
showing their three key factors namely j
cost, access speed and storage capacity.

émﬁiweﬁwﬁm|Fmr“imafﬁﬁﬁawﬂzﬁﬁ¢

AA—2T7, AR ﬁﬁS@W$‘§F‘<$1*ﬁTT!
Wi e e Bos wiem R

(0

(@)

()

(9)

e

Draw the basic symbols used in the
flowchart and describe them briefly.

. ﬁ%ﬁ%‘qﬁiﬁ'Gmﬂemﬂﬁﬁsﬁhaﬁﬁﬁawaazﬁ%

¥oq by A Fnl

What do you mean by I/0 dev1ces’>
Classify the output devices with one
example of each.

I/O @ Mitn Ryt 2 o) werwe qaq
caTReIem R 2o e S |

Briefly describe the elements of Python
program with example of each.

'9ﬁ¥$wemm$s<$$F®ﬂmmwm$zsjﬁﬁzmﬁfaﬁﬂi

What is tuple in Python ? Explam g1v1ng
example. )

Wtuple%?W‘fﬁWWl

What is list in Python ? Explain giving
example.

ﬁNWha%?@mwﬁmm$m

Draw the flowchart to determme the

- largest of three numbers.
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4. Answer any three of the following
questions : 10x3=30
(a) Eipléin top-down and bot1-:om—uP
approaches to design an algorithm.
IR ~RTEre IJ7Ze top-down S
bottom-up % 46T I | |
.(b) Briefly explain the function definition
and. function calling in Python.
| peE e TR FACE OIS FIGA ST
fREca I Y 4| |
(c) Name two options that Pyjnhon 'prov1<.igs
for developing GUIs. Brieﬂy describe
" any six Tkinter Widget class.
GUyN Reoria TR SR &I B 770 R
a1 7Rt Tkinter 3 RA B0 Widget
P 5 I 710
(d) 'Appraise the relational (or, comparison)
operators in Python with example.
THIZACIT TS #1132 AATE@ (3, T
JF) TAIDIRIT e 1|

‘ S | a
(e) Develop an algorithm and. dr&lWt
flowchart to find the simple interest-

TR T SV P A 9qfS AolfI] CoH

3R @R 6 wizw w411
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Write a menu-driven program to convert
the given temperature from Fahrenheit
to Celcius and vice versa depending
upon user’s choice.

VIS 2 «fS B s AR st

SRR SIS PIERIRE o[ e WAl
srEmteIRs [y sRa AR °

Write a Python program to find the
factorial of a given number.

ComT T o SR OB SRR
af sz A o |

Write a Python program to calculate
the total marks, percentage and grade
of a student. Marks obtained in each
of the three subjects are to be input by

the user. Assign grade according to the
following criteria :

S SR e Bl T IR R

AU 1R PR T Y T, o e

(31, percentage) ®i%: (o7 (grade) s
e wes seiTe 3

Grade A : Percentage>=80
Grade B: Percentage>=70 and <80

Grade C : Percentage>=60 and <70

Grade D : Percentage>=40 and <60
Grade E : Percentage<40 .
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(ii)) Hyperlinked

COMPUTER SCIENCE L W
(Honours Generic) _ -
OPTION-B “(iv) Static
Paper : CSC-HG-1026 B3] |
(@slnmedio ang £ plicacions) (b) Virtual reality handset was invented by
Full Marks : 60 el . L
Time : Three hours () Bob Garrey .
The figures in the margin indicate i

full marks for the ques_tions.

1) Brain Sano
Answer either in English or in Assamese. (it) g

(Be7 241 §2a1 TP ) a3 5
; Choose the correct option to answer tilf; : (i) John: Farrast
3 following questions : (any seven) 1x7= ‘ A
i R A/ X2 734 w4l 3 (Rt srest) il T Sagblesie o g
2O bloiTETS

ot
(a}' What is the term for presentation tha
‘

1 e > . - V
is sequential and typically do not hey (c)  Which of the following is not a function

interactivity ? : @W of monkey’s audio ?
o1 IS I (D! i B S S (P! A Se o e ¢
Siecs RO SgzterTe! Al AT ? () To reduce bandwidth
(i) Linear 7 RSTZEY BPT R
IGIDiEs ‘ () To reduce file transfer time
(i) Non-linear | TR FAIGE T BT R
R o5
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(i) Remap color

R TR 471 @ T

(i) To reduce storage requirements

TR ACAG 0! BRECT :
e 4 gtroams (iii) Lossy compression
Sep o LG
(d) LCD stands for ‘ (B e
LCD 7 9o tarm b
(i) g;;d Clear Display (f) is an example of uncompressed
4 ERISRTe ' audio format. A
i} i : . (@IS FIRUE
(@) Light Clear Display (27 RIS s <5l
TG e Rt Tt | i
(i) Light Crystal Display ) Mpg-
TS fetem fomra)
' @3 19 ©
() Liquig Crystal Display -
gy (i) AIFF
s " g
8 : B i . Q T 9F G
e blends th in 107 el
e 5 approe; iizf;rsthe o in2 (i) TTA

Coloyrg in

the graphic. o L
% m Cw@ :Lﬁ'f a‘{ﬂﬂ:ﬁ W

s (iv) Musepack
AR e 79 ST

(l) Scale tEXt bOX V .
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' : i) JPEG
(9) Expertise in comes best with b R
€Xperience and pefsonal
€Xperimentation, using the trial and (iv) PNG
eIror method in refining technique Goic
Wm@m@ﬁamaa’a%ﬁwﬁﬁ : : ;
IR S mmﬁ@_ﬁ@ﬁﬁ_ (1) ILT’LPS 1s an extension of a/an
i 2N .mp3 TZ GO BIETT A |
. (i) video file
> fefeer wize
(1)) solid drawing
. o (i) graphics image
(i) CXaggeration
o (iii) audio file
wiow wigE
") squash anq stretcn (iv) text file
CRIAS oy, (O Fi2a
TS o ollowing images is , () Which of the following is not considered
s " (TR B e Ffog& ¢ as digital ?
i
GIF o (FAC! fefewset it sty s ez 2
i W@‘@ (i) scanned pictures
) Mppq & 1 =R
SRIE B
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(i) audio cassettee t apes (] Web pages are coded using

@@ PR 9 IR T w9 7
SO (<25 (o] |
)  Unicode
(i) web interface buttons ¥ EOoE
(9 SI@oR o
' i (i) HTML
(iv) Computer animations ‘ GABINAE
o afis
(1) ASCII
(k) What iS the Other name for interactlve | @TE%
Multimedig . ;
%%\ (iv) Encapsulated PostScript
© N w5t GIEARETDG (BT
7R : B
() Hypermedla _ 2. Answer the following questions : (any four)
- iRfIRy : LR
) oot fral ey Oed Wl s (Ricserear oifes))
Pertext :
o33 s " (@) Write any two uses of multimedia.

wSRfan R b e e
; o , (b) Wh..at are the stgges of a mult?imedija
project ?

9ol NFSREN esw fifon w1 & & fa
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(c)

(@)

(9)

Differentiate between Hypertext and

Hypermedia.

TR w1 2z s e Fl

What is Font Mongér ?

T WA R 27 ¢

What is Cool 3D Text ?
Cool 3D (Ba75 R o

Write the name of two lossles®

C s
Ompressed audio file formats.

?Ww@%@mwrﬁcﬁﬂm
1|

W . .
hat is Palette~'1ndexed bitmap ?

3. Answer any three of the following
questions : 5x3=15

woTe il enpTEa Rt o Sea i s

(@) What is a colour palette generator?
Write the names of any three colour
palette generator.

&1 (A0 (GEEed & ¢ R folab) 3ed
(T (SRS e fovall |

(b) What is a font? What are the factors
' that affect the legibility of text in
multimedia ?

6 (Font) &= ¢ MFGREAS Feaia «ioreiw
geiffe w1 s 5 & 2

(c) Differentiate between MIDI and digital
audio.

fife (MIDI) wii=: fSferet wif =y wiwre =ik
forall |

(d) Write short notes on: (any one)
59 (Ot fovdt ¢ (Rizemcan «by)

(i)  Joint Photographic Experts Group
(JPEG)

(@R FORFIRE Reswe (s (JPEG)
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(9)

(h)

(i) Portable Network Graphics (PNG) |

AT (53 alifFs (PNG)

What is catalog file ? Write about its
advantages.

@tﬁaﬂmﬁs?iﬂmqﬁmﬁmﬁm

Differentiate between serif and sans-
serif fonts and gjve examples of each.

Serif SI% sans-serif T5za WMo 124
Tl @R &fom Trme fra

- What are sampling rates and bit rates ?

Give example of each..

w&aﬁﬁswﬁ%@ﬁs%?ﬁt@w%ﬁmq
faan |

What are Windows image files ? Write

three limitations of Windows images
files.

Answer any three of the following
questions : 10x3=30

wote Rl e Ricpiear fofabis Sea faa ¢

(@) Write in short about various
responsibilities of the following team
members in a multimedia application :

451 MESRIH afioae ware i wem

AR f[ien wikies [REca oaes o g
(i) Project manager
°E ARl
(i) Interface designer
gD fToizae
(i) Producer for the Web
(| dQe<s

(iv) Permission specialist

wefe [reiae

(b) What are digital display standards ?
Discuss about any two of them.

BT Iy Fiee 7 Tiew g wE @@mﬁ;@%?mwm
foTol Maaga) foral |
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(c)

(h) Write short notes on the following topics

Write in brief about various Open file in the. context to animation : |
formats for storing digital data. ° %Zmﬁiﬁ B dhi s
TSfR5e1 it stcemer i oo 3 1207 @ |
o & _ )  Anticipation
IR B fora | b ’

. i afGiHTalna
(@) Wi 3 mation.
flte the Principles of animation _ (ii) Follow through and overlapping
, ‘ﬂﬁﬁm?ﬁ S - %Qﬁl action
B 'I‘E' A 4 SRR SR SSIE(E,
(€) What 18 video editing ? Write abo ' ; -
different types of video editing . Sed, drevrnig
ﬁ"%@’kﬂﬁsﬁaﬁs ?%@%Wm
R R
N g : S of
l’;plam briefly different tyP°
In or .
Mation stryctyres.
f: ™ I A
T R w2 2t sz A
al
ing
9 Describe the process of choo®
authoring software. @ﬂfﬂ
O SRR bepocar e 99 o
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